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Due in: 22/5/18
Solve these word problems using the multiplication grid method. Show your working on the back.
1) There are 5 biscuits in a packet. A shop orders 126 packets. How many biscuits will be in the 126 packets?
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2) A school buys 172 boxes of pencils. Each box has 7 pencils. How many pencils has the school bought altogether?


3) A machine makes 6 dice in a minute. How many dice would it make in 234 minutes?

4) There are 4 apples in a bag. A lady orders 435 bags. How many apples does she have now?


5)  Eggs are sold in trays of 8. 478 trays are sold. How many eggs is that?

6) Write your own multiplication word problem:
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